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C$2,0,0,20-E5
C$2,0,0, 20-Ef
OFFSETIC$2, 0, 0, 20-E7
OFFSETIC$2,0, 0, 20-E8
OFFSETIC$2,0,0, 20-E9

ac
, OFFSET (03,0, 0, 20-E2)
, OFFSET (C4, 0,0, 20-E3)
, OFFSET(C5, 0, 0, 20-E4)
, OFFSET (08, 0, 0, 20-EE)
, OFFSET (07,0, 0, 20-ER)
, OFFSET(C8, 0, 0, 20-ET)
, OFFSET (09, 0, 0, 20-E8)
, OFFSET(C10, 0,0, 20-E9
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Yule-Walker

H2:09

/189
/19
/18
/189

STAR($032: pod21
STAR($C$2: 90821
STAR ($C$2: 90821
STAR($032: pod21
STAR($CE2: 308210 f19
STAR($CB2: 508210 f19
JTAR(3052: 504210 /10
VAR (502 305210 /1

DA P S P P

)
)
)
)
)
)
)
)

8 Yule-Walker
H2:09
Excel
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8 @l @81
H12

112:113 J12:J14 ,

8
“ MMULT(MINVERSE(OFFSET(H2,0,0,1,1)),0FFSET(F2,0,0,1))”"
“ MMULT(MINVERSE(OFFSET(H2,0,0,2,2)),0FFSET(F2,0,0,2))”"
“ MMULT(MINVERSE(OFFSET(H2,0,0,3,3)),0FFSET(F2,0,0,3))”
“ MMULT(MINVERSE(OFFSET(H2,0,0,4,4)),0FFSET(F2,0,0,4))”"
“ MMULT(MINVERSE(OFFSET(H2,0,0,5,5)),0FFSET(F2,0,0,5))”
“ MMULT(MINVERSE(OFFSET(H2,0,0,6,6)),0FFSET(F2,0,0,6))”"
“ MMULT(MINVERSE(OFFSET(H2,0,0,7,7)),0FFSET(F2,0,0,7))”"
“ MMULT(MINVERSE(OFFSET(H2,0,0,8,8)),0FFSET(F2,0,0,8))”

1. Excel

=MMULT (MINVERSE (OFFSET(H2,0,0,2,2)), OFFSET(F2,0,0,2))"

“ CTRL+SHIFT+ ”
Excel 2.
1
pac 8
-39 H12:019
F12:F19 8
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E| _F |G| H 1 | 1 E L | | nm | o |
1 |Lag ac
2 | 1 0.819087042 1 0.819 0.612 0,452 0,327 0. 164 0.0388 —0.01
3 | 2 0611510228 0,819 1 0.819 0,612 0.452 0,327 0. 1642 0,030
4 | 5 0.451726387  0.612 0.819 1 0.819 0.612 0.452 0.5272 0. 164
§ | 4 0.327219978 0.452 0.612 0.819 1 0.819 0.612 0.4517 0. 327
& | 5 0.184215603  0.327 0.452 0.612 0.812 1 | 0.819 0.6115 0.452
T | 6 0.038753d84 0,164 0.327 0.452 0,612 0.819 1 0.8101 0.612
g | 7  -0.000724647  0.030 0.164 0.327 0.452 0.612 0.819 1  0.8109
O | 8 -0.116257000  —0.01 0.039 0.164 0.327 0.452 0.612 0.8191 1
10
11 | pac ! b1 b2 b3 b4 b5 dei b dE
12 0. 8109067042 0.810 0067 0.971 0972 0.967 0972 09704 0.9097
13 -0, 180361799 018 -0.205 -0.21 -0.2  -0.204 -0.184 -0.202
14 0. 025005052 0.026 0.048 0.002 0.002 -0.015 -0.085
15 -0. 022714997 002 019 0,195 01951 0.256
16 -0, 21914027 022 -0.243 -0.226 -0.23
17 0. 024732308 0.025 -0.058 -0.115
18 0. D84FE5469 0.02847 0.336
19 -0, 310257383 -0.31
-39
3
1.96 1.96
k>1 (—,—) (-0.438,0.438)
720 420
K>1 AR(L)
C2:C20
D3:D21 D1 “ Z(-1)” “ "
_40 [13 ”



Excel ( www.riskage.com)

EER

[spsa:3D821 7|

e

df 58 s ¥ g1 flcance F
1 G621, 4 208214 13,577 3 A31138-04
1B I05E 09 149 B4

19 23674.5
Coefficlen P/ t Stat P-walue  Llower 4% Jpper 95Y-JF 95 CLJR 95 0
Intercen o ®/A | Bk /A I TR TR
X Variab 1.0623¢ 0.09639 11,0264 1. 9E-05  0.960332697 L, 26535 0.86033 1, 26535
-41
Z =1.06284*2(-1),
=1.06284( - )

M ® Q)
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Excel
-42 Al  B13 1996 1998
C ). 1999
1 C3
“ =AVERAGE(B2:B5)” : " C4:C11
2. D4 “ =AVERAGE(C3:C4)”
: ? D5:D11
3 E4 “ =B4/E4” “
” ES5:E1l1
4 F4 “ =AVERAGE(E4,ES)"
“ ” F5:F7
[ I I | B
(1 £E Eﬁﬁ A “itﬁ-‘;'FFﬂ Mﬁﬂ'ﬁ"ﬂ iﬁ}ﬁﬂ -‘Fﬂ'ﬁm M?:!m AkEFEL BhE
RN 18561 [.eTOARE43E 114 306272 1
[ 19962 ||.5 L48. 75 0. ETANIEZES 151 8TEEML 2
(4 133 e 1SLTS 15325 1.0%654 | BE0ZT2E3E  1.B2027Z359 163.TIITEST 3
[ 8 | 19664 | 105 148, 75 165, 25 0, 64319 06513 O.e3T122631 164, 3033606 4
R AR 176 17375 0,657 O6ESIMG  0.BTOSEEM3S 1685087217 5
| T | 1857.2 153 18¢. 25 181126 O BTTES QEPLIT3ELE  O.9T2016300 182 3360455 &
a0 1857.3 ) =3 1493 188 52§ L. TTe01 1220272306 164 03A3%E1 7
[0 1997.4 0 130 201, 5 197,25 0, GE%0% 0UBATITZAG] 204, 422558 2
W 195e 1 148 210.25 R ETS  0.TIESR 0. 6TOBES43S 220, TO16EET 9
I 1992 | 143 216. & 215378 0, 80451 0. ETIN1EZEE 221326147 10
(33 e = 11 souovessn 2os 2smese 11
13 19%2.4 @ 15§ 0L B3AT1T0E] 245 28116512 12
) 19541 13
(45| 1900 2 14
O REE 15
a7 | 1904 16
_42
5. 1
G4 “ =F4/AVERAGE ($F$4:$F$7)”
: ” G5:G7 G4:G7
G4:G7 4
G2:613
6. H2 “ =B2/F2”

“ ” H3:H13 H
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B36

$4319:3T336

e
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48

L | B | ¢ | p | B | F |l | ® |1

19
20

SUMMARY OUTPUT

21

[E355tt

22
23
24

Multiple 0. 55448
R Sguare 0, 91103
Adjusted 0, 80213

25 [FRHERE 11,762
26 |AmiE 12
27
28 HERR
28 df 55 i F ignificance F
30 |[@ I35 1 14166, 4156 14166, 4156  102.4 1.425726-06
3 HE 101383, 44545 138, 344549
32 |Eit 11 15549, 8611
i
3¢ Coefficien #REZE | t Stat  P-value Lower 95% pper S95TFE 98, 0%fE 95. 0%
35 |Intercep 118. 864 7. 2390081 16. 4199564 1.5E-08 102. T34AT97 134,59 102, 7347 134, 954
36 |fE] 5, 95318 0. 98358751 10. 1192649 1. 4F-06 7. 761612654 12.145 7. 76161312, 1448
-44
8. G14:G17
B14 “ =($B$35+114*$B$36)*G14”

“ " B15:B17 B14:B17
1999 -45

i \ C_|\D_|E”|Fb§%§£|}1_|l\|
1| ZE — b R R e B e B eS0T HE
14 | 1999.1 [ 1664773 0. 57059 13
15 | 19992 2251622 0. 87202 14
16 | 1999, 3 488.1278 1. 82027 15
17 | 1999.4 1771935 0. 63712 16

-45
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Excel
AVEDEV
AVERAGE
AVERAGEA
TRUE  FALSE
BETADIST Beta Beta
BETAINV beta
probability = BETADIST(X,...)
BETAINV(probability,...) = x beta
BINOMDIST BINOMDIST
BINOMDIST
CHIDIST X2 X2 X2
X2
CHIINV X probability =
CHIDIST(x,?) CHIINV(probability,?)= x
CHITEST CHITEST X2

XZ

49
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50

CONFIDENCE

CORREL

arrayl

array?2

COUNT

COUNT

COUNTA

COUNTA

COVAR

CRITBINOM

CRITBINOM

DEVSQ

EXPONDIST

EXPONDIST

EXPONDIST

FDIST

FINV

FINV(p,

):

X

p = FDIST(X,

)
F
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FISHER X Fisher
FISHERINV Fisher
y = FISHER(X)

FISHERINV(Y) = X

FORECAST
y
y X
FREQUENCY
FREQUENCY
FREQUENCY

FTEST F F 1

2
GAMMADIST Y
GAMMAINV Y P =

GAMMADIST(X, -..) GAMMAINV(p,...) = X
GAMMALN r ()
GEOMEAN
GEOMEAN

GROWTH X

y GROWTH X y

GROWTH X
y

HARMEAN

5l
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52

HYPGEOMDIST

HYPGEOMDIST

HYPGEOMDIST
INTERCEPT X y y
known_x known_y
y
INTERCEPT 0
KURT
LARGE k
LARGE
LINEST
OGEST
LOGINV X
In(x) mean standard-dev
p=LOGNORMDIST(X, - ..)
LOGINV p,... =X
LOGNORMDIST X In(x)
mean standard_dev
MAX
MAXA
TRUE FALSE MAXA
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MINA

MEDIAN
MIN
MINA

TRUE FALSE
MODE

MEDIAN MODE

NEGBINOMDIST

probability s NEGBINOMDIST

number_s number_f
NORMDIST
NORMINV
NORMSDIST

0 1
NORMSINV

0 1
PEARSON Pearson r
-1.0 1.0 -1.0 1.0
PERCENTILE K
90
PERCENTRANK
PERCENTRANK
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PERMUT

POISSON

PROB

upper_limit
_range lower_limit

QUARTILE

QUARTILE 25%

RANK

RSQ

known_y*s known_x"s
Pearson
REARSON R y

SKEW

SLOPE

known_y*s known_x"s

SMALL

STANDARDIZE

mean standard-dev

STDEV

mean

STDEVA
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mean
TRUE FALSE

STDEVP

mean

STDEVPA

mean

STEYX

TDIST

TINV

-t

TREND

known_y*s

y
known_x*s
new X"s

TRIMMEAN

TRIMMEAN

TTEST

TTEST

VAR

VARA

TRUE FALSE

VARP

VARPA

TRUE FALSE

WEIBULL

ZTEST
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Excel
[13 F - F -
F_
[13 t _
t - t -
[13 t - t -
t_
” t _ t _
[13 t - t —
t -
” t - t -
13 Z _ Z -

56
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FFT

57



58

Excel ( Www.riskage.com)
20
A B-
a
“ Anova (anova)
t_
“ Anova anova
“ Anova anova
t-
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